[image: image21.png]edexcel




GCSE in Mathematics B

Modular 2544 

Unit 2 Handling Data

Practice Paper D 

Higher

(Calculator and Non – Calculator)

Higher Unit 2 Paper D 
Section A

Calculator section

1.
Natasha says the probability that she will be late for school next Monday is 1.5


Natasha is wrong.

(a)
Explain why.
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(1)


Bryan plays a game.


The probability that he will win the game is 0.7

(b)
Write down the probability that Bryan will not win the game.

..........................

(1)

(Total 2 marks)

2.
The table gives information about the time taken by 20 students to travel to school.

	Time (t minutes)
	Frequency
	
	

	0 < t ≤ 4
	2
	
	

	4 < t ≤ 8
	8
	
	

	8 < t ≤ 12
	4
	
	

	12 < t ≤ 16
	0
	
	

	16 < t ≤ 20
	3
	
	


Work out an estimate for the mean time.

.....................................minutes

(Total 4 marks)


3.
A golf club has 100 members.


The age of the youngest member is 24 years.
The range of the member’s ages is 33 years.


The median age is 38 years.
The lower quartile age is 30 years.
The inter quartile range is 15 years.

On the grid, draw a box plot to show information about the ages of the members.
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(Total 3 marks)


4.
Amy is going to play one game of snooker and one game of billiards.


The probability that she will win the game of snooker is [image: image2.wmf]4

3



The probability that she will win the game of billiards is [image: image3.wmf]3

1


Work out the probability that Amy will win exactly one game.



(Total 4 marks)
5.
Some students at Highfliers School took a mathematics examination.
The unfinished table and histogram show some information about their marks.

	Mark (x%)
	Frequency

	0 < x  40
	10

	40 < x  60
	40

	60 < x  75
	45

	75 < x  85
	60

	85 < x  95
	

	95 < x  100
	25
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(a)
Use the information in the table to complete the histogram.

(1)

(b)
Use the information in the histogram to complete the table.

(1)

(Total 2 marks)
TOTAL FOR SECTION B:  15 MARKS

Higher Unit 2 Paper D 
Section B

Non-Calculator section

1.
80 Year 12 students each study one Science.
The table shows some information about these students.

	
	Biology
	Chemistry
	Physics
	Total

	Female
	18
	
	
	47

	Male
	
	
	19
	

	Total
	
	21
	33
	80


(a)
Complete the table.

(3)

One of these students is picked at random.

(b)
Write down the probability that the student studies Physics.

……………….

(1)

(Total 4 marks)

2.      The scatter graph shows information about 12 countries.


For each country, it shows the percentage of the population in farming jobs and the percentage of the population living in towns.
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(a)
Describe the relationship between the percentage of the population in farming jobs and the percentage of the population living in towns.



(1)

(b)
Draw the line of best fit on the scatter graph.

(1)


In Mathsland, the percentage of the population in farming jobs is 35%.

(c)
Use your line of best fit to estimate the percentage of Mathsland’s population living in towns.

……………………. %

(1)

(Total 3 marks)


3.
The librarian wants to find out how many books students borrow.



 She uses this question on a questionnaire.


“How many books do you normally take out of the library?”




Hardly any


Lots


Design a better question for the librarian to use.
You should include some response boxes.

(Total 2 marks)

4.
The table gives information about the ages of 160 employees of an IT company.

	Age (A) in years
	Frequency

	15 < A  25
	44

	25 < A  35
	56

	35 < A  45
	34

	45 < A  55
	19

	55 < A  65
	7


(a)
Complete the cumulative frequency table.

	Age (A) in years
	Cumulative Frequency

	15 < A  25
	

	15 < A  35
	

	15 < A  45
	

	15 < A  55
	

	15 < A  65
	


(1)

(b)
On the grid on the next page, draw a cumulative frequency graph for your table.

(2)

(c)
Use your graph to find an estimate for the median age of the employees,

................................... years

(1)

(Total 4 marks)
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5.
Deborah throws a dice 6 times. 
It lands on the number 4 twice.


Deborah says that the dice is not fair.


Deborah is wrong. 
Explain why.

.



(Total 1 mark)


6.
A box contains 20 counters. 
Martin picks a counter from the bag and does not replace it.


The probability that this counter is red is 
[image: image7.wmf]20
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.


Martin then picks a second counter at random from the bag. 


Write down the probability that this second counter is also red.

(Total 1 mark)

TOTAL FOR SECTION B:  15 MARKS

Mark Scheme Paper D   

Modular 2544 Unit 2 = Data Handling

Higher – Section A – Calculator

1.
(a)   Probability cannot be greater than 1


(b)   0.3

2.
	Time (t minutes)
	Frequency
	Mid
	Mid ( f

	0 < t ≤ 4
	2
	2
	4

	4 < t ≤ 8
	8
	6
	48

	8 < t ≤ 12
	4
	10
	40

	12 < t ≤ 16
	0
	14
	0

	16 < t ≤ 20
	3
	18
	54




17
       146

Mean time = 146 ÷ 17 = 8.588…

3.


[image: image8.wmf]0

10

20

30

40

50

60

70

Age () in years

A


4.
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5.
(a)

	Mark (x%)
	Frequency

	0 < x  40
	10

	40 < x  60
	40

	60 < x  75
	45

	75 < x  85
	60

	85 < x  95
	60

	95 < x  100
	25


(b)
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Mark Scheme Paper D   

Modular 2544 Unit 2 = Data Handling

Higher – Section B – Non-Calculator

1.
(a)   

	
	Biology
	Chemistry
	Physics
	Total

	Female
	18
	15
	14
	47

	Male
	8
	6
	19
	33

	Total
	26
	21
	33
	80


(b)   
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2.
(a)   Negative correlation … The lower the % in farming jobs, the greater the % living in towns and vice versa

(b)
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(c)   57%

3.
How many books do you normally take out of the library each week?



None

1 to 3

4 to 6

more than 6


4. (a)  

	Age (A) in years
	Cumulative Frequency

	15 < A  25
	44

	15 < A  35
	100

	15 < A  45
	134

	15 < A  55
	153

	15 < A  65
	160



(b)
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Artist … please draw a smoother curve!!!


(c)   32 years   (read from their curve)

5.
She has not thrown the dice enough times to tell.

6.
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